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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
α = 0.44000
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
α = 0.56000

Point Cloud Data P(Xf )

Frequency Bands 1rst Homology Level 2nd Homology Level



Function f = (1− α)g + αh
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Function f = (1− α)g + αh
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Function f = (1− α)g + αh
α = 0.62000

Point Cloud Data P(Xf )

Frequency Bands 1rst Homology Level 2nd Homology Level



Function f = (1− α)g + αh
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